VERBS (Active)

The Present tenses of the different Conjugations and the Irregular Verb "to be"

The Imperfect Tense (the same endings in all the Conjugations)

Iwas carrying etc. |portabam

you were carrying portabas

he, she was carrying |portabat

we were carrying portabamus

you were carrying portabatis

1
Present
I carry, am carrying |porto
you (s) portas
he, she, it portat
we portamus
you (pl) portatis
they portant

they were carrying portabant

The Perfect Tense (the same endings in all the Conjugations)
The "stem" used to form the Perfect Tense is normally not the same as the Present Stem.

1
I (have) carried portav-i
you (s) carried portav-isti
he, she, it carried portav-it
we carried portav-imus
you (pl) carried portav-istis
they carried portav-erunt

The Pluperfect Tense (the same endings in all the Conjugations)
The "stem" used to form the Plupperfect Tense is the same as for the Perfect Tense .

1
1 had carried portav-eram
you (s) had carried |portav-eras
he, she had carried |portav-erat
we had carried portav-eramus
you (pl) had carried |portav-eratis

they had carried portav-erant
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